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ultiplication
X [o] 1 2 4 5 6 7 10 11 12
olo|o] o o[o|ofo ololfo sum, total, plus,
1 o | 1] 2 a5 |67 9 10| u |1 | altogether, inall
2 0 2 4 8 10 12 14 16 18 20 | 22 24
NERERE 12 | 15|18 | 21 |24 [ 27 | 30 | 33| 36 remainder, fewer,
2| 0| 4| 8 |12|16|2 |2 [28]32]|36|40]44] 48 difference, minus,
s 1 o | 5| 10|15 |22 |30]|35|40]45|50]55] 60 than, how many more
6 0 6 12 18 24 30 | 36 42 | 48 | 54 60 | 66 72 pl“Odl.le times
7 o] ¥ 14 21 28 35 | 42 49 | b6 | 63 70 | 77 | 84 | twice. total each
8 0 8 16 24 32 40 | 48 56 | 64 | 72 80 a8 96 rnultiply by
9 0 9 18 27 36 | 45 | 54 63 72 81 90 | 99 | 108
10 0 10 20 | 30 40 | 50 | 60 70 | 80 | 90 | 100 { 110 | 120 : C}UO‘“BI'IT goes e
11 0 11 22 33 44 55 | 66 77 | 88 99 | 110 | 121 | 132 _ Spﬁ‘l‘ equal!y eaich '
12 0 12 24 | 36 48 60 | 72 84 | 96 | 108 | 120 | 132 | 144
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Types of Lines
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Line Parallel Perpendicular | Intersecting
Line Ray Segment Lines Lines Lines Equilateral Isosceles Scalene
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